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SKRFAITEHESKR(7H298R%E)

£KkH#F |EE )| FTEIHEALES (M) PEHIES (M) WED I
W—1 3.5 26.5 20.0 R B
W—2 35 28.0 28.0 WEISET . BEKkAR—1) 25 EiFs
W—3 3.5 21.0 17.0 #EHI B
W—4 35 15.0 15.0 EHI5E T . HEkAR—1) 7 % fch
W—5 35 33.0 19.5 A&
W—6 35 39.0 39.0 WEIET . HEIKkAR—)> 5 T
W—7 35 10.5 10.5 WEIET .. £EXKR—=) T iTsh
W—8 35 395 6.0 A&
W—9 35 355 135 A&
W—11 35 30.5 18.5 A&
W—12 35 32.0 320 WEIET . HEIKkAR—)> 5 T
W—13 35 18.5 55 A&
W—14 35 23.0 230 REIET . HEIKkAR—)2 5 T
T4—7T DT THEBKR(7H29818%)
T4—JOI)L FTEHEELES(m) | HEKE (W2 min) EERKR
1 55.5 220 HEK &
2 62.5 160 BEKH
3 66.5 42 BEKH
4 42.0 EHISET . BEKERE
5 70.0 70 HEKdh
6 69.5 50 K
7 56.0 10 K
8 65.5 230 K
9 40.0 40 e 7K e
10 420 EHI (28. Om)




